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QUESTION 1

Which of the following statements correctly describe Transparent Mode operation? (Select all that apply.)
A. The FortiGate unit acts as transparent bridge and routes traffic using Layer-2 forwarding.

B. Ethernet packets are forwarded based on destination MAC addresses NOT IPs.

C. The device is transparent to network hosts.

D. Permits inline traffic inspection and firewalling without changing the IP scheme of the network.

E. All interfaces must be on different IP subnets.

Correct Answer: ABCD

QUESTION 2
A static route is configured for a FortiGate unit from the CLI using the following commands:
config router static edit 1 set device "wanl" set distance 20 set gateway 192.168.100.1 next end

Which of the following conditions is NOT required for this static default route to be displayed in the FortiGate unit\\'s
routing table?

A. The Administrative Status of the wan1l interface is displayed as Up.
B. The Link Status of the wan1 interface is displayed as Up.

C. All other default routes should have an equal or higher distance.
D. You must disable DHCP client on that interface.

Correct Answer: D

QUESTION 3

A portion of the device listing for a FortiAnalyzer unit is displayed in the exhibit.

| @ Create New [& Ed 1l Dalet g @
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Which of the following statements best describes the reason why the FortiGate 60B unit is unable to archive data to the
FortiAnalyzer unit?
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A. The FortiGate unit is considered an unregistered device.
B. The FortiGate unit has been blocked from sending archive data to the FortiAnalyzer device by the administrator.

C. The FortiGate unit has insufficient privileges. The administrator should edit the device entry in the FortiAnalyzer and
modify the privileges.

D. The FortiGate unit is being treated as a syslog device and is only permitted to send log data.

Correct Answer: A

QUESTION 4

Shown below is a section of output from the debug command diag ip arp list.

index=2 ifname=portl 172.20.187.150 00:09:0f:69:03:7e state=00000004 use=4589 confirm=4589 update=2422 ref=1
In the output provided, which of the following best describes the IP address 172.20.187.1507?

A. It is the primary IP address of the portl interface.

B. It is one of the secondary IP addresses of the portl interface.

C. Itis the IP address of another network device located in the same LAN segment as the FortiGate unit\\'s portl
interface.

Correct Answer: C

QUESTION 5

In HA, the option Reserve Management Port for Cluster Member is selected as shown in the Exhibit below.

High Awvailability

Mode [Active-Passive =]
Levice Priarity 200

[¥ Feserve Managenent Port for Cluster Member ||:u:|rl:}r 'I

Which of the following statements are correct regarding this setting? (Select all that apply.)

A. Interface settings on port7 will not be synchronized with other cluster members.

B. The IP address assigned to this interface must not overlap with the IP address subnet assigned to another interface.
C. Port7 appears in the routing table.

D. A gateway address may be configured for port7.

E. When connecting to port7 you always connect to the master device.
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Correct Answer: AD

FCNSP.V5 PDF Dumps ECNSP.V5 VCE Dumps FCNSP.V5 Study Guide

FCNSP.V5 PDF Dumps | FCNSP.V5 VCE Dumps | FCNSP.V5 Study Guide 4/4


https://www.pass2lead.com/fcnsp-v5.html
https://www.pass2lead.com/fcnsp-v5.html
https://www.pass2lead.com/fcnsp-v5.html
http://www.tcpdf.org
https://www.pass2lead.com/fcnsp-v5.html
https://www.pass2lead.com/fcnsp-v5.html
https://www.pass2lead.com/fcnsp-v5.html

